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(1) NaCl + HoSO4 — NaHSO4 + HCI
] (2 NHs + HCI — NH4CI
(3) Ca(ClO)z - 2H;0 + 4HCI — CaCl, + 4H,0 + 2Cl;
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2NaCl + CaCO3 — NapCOs + CaCly
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NaCl = 58.5, CaCOj3 = 100.0, Na,CO3 = 106.0
NaCl D#)E &% 11.7/ 58.5 = 0.200 kmol
LIRS 1 mol @ NaClizxt L, REEA VY7 A 1/2 mol SHET,
RERT RV DAk 12 mol SN A,

L7=isoC,

JRER I V377 A 0.200%100.0+2=10.0 kg
BREET b U 7 A 0.200X106.0+-2=10.6 kg
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HCl + NaOH — NaCl+H,O0 TR L, B3 2 b
RN A EE 7R NaOH KISIR D RFEIE 15.0 mL 72D T,
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i 6 0.100 mol/Lx15.0 mL/10.0 mL = 0.150 mol/L
2 0150 mol/lL
(1) 7.0
B WEBAEE D H OMEE 0.150 mol/Lx10.0 mL = 1.50 mmol
T L7 OH DWW E R 0.100 mol/Lx14.0 mL = 1.40 mmol
BRI D HFOWE R 1.50 mmol — 1.40 mmol = 0.10 mmol
[H*] = 0.10 mmol/(10.0 mL+14.0 mL) = 0.0042 mol/L
R 7 pH = —log100.0042 = —log0(4.2%x10%) = 3 — log 4.2 =3 — 0.62 = 2.38
(2) BIE : pH = —log;0(0.10/24.0)

=logio(2.4%10%) = 2 + log102.4 =2 + 0.38 = 2,38
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